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Questions 1 to 10 cany
For each question, four options are given.
Make your choice (1, 2, 3 or 4} and shade

1 mark each. Questions 11 to 20 carry 2 marks each.
One of them s the correct answer.
r answer in the Optical Answer Sheet.

{30 marks)

1.

2.

80 000 + 5000+ 700+ 2=
(1) 85720
{2) 85 702
(3) 85 072
(4) 80 572

Find the value of 50~ (5 +21)+2x3

)
@)
@)
@

11
36
49
89

Page 1
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What fraction of the hearts in the box are shaded?

{1)

2

3
“4

5 © O

vV ©
VAR Y

it it

W N

Which decimal is greater then 0.08 but smalier than 0.457

(1)
(2)
3
4

01
05
0.01
023

Keith had 400 marbles. 120 of his marbles were green.
What perceniage of Keith's marbles wers green?

Q)
2)
{3)
{4)

%
60%

40%

- A%

Page2

{Go on iy the next page)
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There m?ﬂbunmsmam.24ofﬁrabuums.araradwhi!emarestamhlue.
Expressﬂienumbewfmdbumtoﬂmnumbewfbluebuttonsasamﬁuinme

simplast form,
{1) 12:23
{2) 12:35
(3) 23:12
(4) 23:35

Johan folds 5 paper cranes in B minutes.
At this rate, how many paper cranes can Johan fold in 40 minules?

(1)
(2)
(3)
(4)

25
64
200
320

A sofid cuboid of height 8 cm has a square base of side 10 em.

What is its volume?

() 28 o

) Boewd 8 om
(3} 640 cm® 10 <

{8 800 cm®

Page 3 {Go on % tho next page)
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9.

In the figure, KLMN is a rectangle. Find /a.

1)
@)
3
(4)

34ﬂ
45*

58°

K

Page 4

(Go on to the next paga)
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10.

1.

The graph balow shows the number of printers soki by a shop from January to April.

80

Number of
printers sold

20

0.
January
How many printers did the shop sell in February?

) 23
{2) 26
() 30
4 32

The solid below is made up of some identical 1-cm cubes.

|
What iséwlume of tha solid?
(1) 9omd
@ 10
(3 17cmd
(4 18om®

Page 6 {Go on 1o the next page)
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12.  PQRS is parsilelogtam and PQT is an isosceles irangle. Find £TQR.
p

13.

"
e
3
(4)

The ratio of the length of a rectangle to its breadthis & :

Q

Bﬂ'
8&
12*

18°

rectangle is 88 em. What is the area of the rectangle?

()
&
3
)

120 om?
240 em?
480 cm®

4320 cm?

Page s

5. The perimeter of the

{Go on to the naxt paga)




14.

15.

The figure below ig made up of 2 squares of sides 5 cm and 3 cm.
Find the shaded area,

() 7.5cm?
) 125cm?
(3) 15cm?
(4) 20em?

A table with 4 columns is filled with odd numbers in a certain pattem.
The first 4 rows of the table are shown below.

Column A Column B Column € Column D
Row 1 1 3 5 7
Row 2 9 11 13 15
Row 3 17 19 21 23
Row 4 25 7 27 28 a1

In which column will the number 159 appear?

(1)  ColumnA
(2 ColumnB
(33 ColmnC
(4) Column D

Page? Go on to Booidet B
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HENRY PARK PRIMARY SCHOOL
2023 END OF YEAR EXAMINATION
MATHEMATICS
PRIMARY 5

PAPER 1
(BOOKLET B)

Name: _ { )

Class: Primary5______ 15M /25

Total Time for Booklets A and B: 1 hour

Do not tum over this page unti! you are told to do so.
Follow all instructions carafully.

Answer all questions,

Write your answers In this bookiet,

You are not allowed to use a calculator.




Questions 16 to 20 camy 1 mark each, Write your answers in ﬂ;e spaces provided.
For questions which require units, give yout answers In the units stated. _
{5 marks)

18.  Find the greatest multiple of 8 that i less than 50.

Ans:

_ 1.5

17.  Findthevalueof 3%5.

Ans:
18.  Find the value of 7.2+ 3

Ans:

Page1 Go on fo the next page
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19

What is the missing number i the box?

63

?

a3}

Ans:

Do not writs
“in tis space

Printer A prints 20 posters in 1 minute. Printer 8 prints 30 postersin 1 minute.
Given that printers A snd B start printing at the same lime, how long does it
take for both printars to finish printing 4000 posters altoguther?

min

Page 2

- Goon to the next page
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Questions 21 to 30 canry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which requira units, give your
answers in the unils stated,

{20 marks)

21, Gwen baked some cupcakes. Afier Amy took 7

1t the cupeakes and May

ook g:i of the cupoakes, there were 24 cupcakss left. How many cupcakes
did Gwen bake?

]

Mr Lim had a total of 880 chalrs in his shop. He sold 45% of the chairs.
How many chalrs did Mr Lim sell?

Page 3 Go on {o the nexi page
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23.  Thefigure shows a right-angled trangle. Find the area of the irangle. Do natwrke

20 cm

Ans: ' o

24, Agroup of 4 boys had an average of 32 stickers. When Edward joined the
group, the 5 boys had an average of 42 stickers. How many stickers did
Edward have?

Poge 4 Go.on to the next page
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25.  inthe diagram below, ABC and DBE are straight lines. Find Zp.
E
A 110°
PN
p .
Ans: .

26.  Inthe figure below, ABCD is a rhombus and ADE is an isosceles triangle.
EDC is a straight line and AE = AD. Find ZCAE.

Page Go on 1o the next page



27,

The average test score of a group of students was 80. When Miss Lim | Do notwiite
recorded the tes! score of these studants, sho wrongly recorded one | I ihis space
student’s test score as 20 when it should have been 90.

As a result, Miss Lim calculated the average lest score as 78.
How many students were thare in the group?

Ans;

28

Kelly and Louis had the same number of cookies at first. Each day, Kelly
ale 4 cookies while Louis ale € cookies, When Louis had 12cookies It
Kelly still had 3 tmes as many cookies as him. How many cookies did Kelly
hava at first?

Ang:

Page 8 Goontothe next dage.
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29.  ABCD s a paralieiogram. EFCls o straight line.
#DAB = 120", ZBEG = 86" and LDFC= 78°, find ZCBD,

Pege 7 Go on lo the naxt pagse
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30.  Figure 1 shows a square plece of paper, WXYZ. After Jamie cut 60 identical Do vt write
tdangles from the square plece of paper, there was a stip of paper | 1 s space
remaining, F@miﬁmhmwmdmmm le Jamis sut
Ttmamnwmtnfhmﬂusnﬁianglesmaﬁanﬁﬂwmmdnhgsﬁbof
paper are shown In Figure 3,
@mnmmssﬁasdmammmapswaIaJnMamw
the smallest possible area of the femaining strip of paper.

3cm W,ﬂ}, % - ¢
' ; i
|
S i
Z Figura 3 Y
remaining strip of paper
Ans: e

= End of Paper 1 —
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HENRY PARK PRIMARY SCHOOL
2023 END OF YEAR EXAMINATION
MATHEMATICS
PRIMARY 5

PAPER 2

Class: Primary 5__ ! 6M

55

Tiroe for Paper 2: 1 h 30 min

Do not tum over this page until you are tald to do o.

Follow ail instructions carefully.

Answer all questions.

Show your working clearly as marks are awarded for commect working.
Write your answers in this booklet.

You are allowed 1o use a calculator.
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1

Quastions 1 to 5 cary 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated.

{10 marks)

1.  ‘The mass of a tennis ball is 58.3 g. The mass of an emply basket is
358 g. Find the totai mass of the basket containing 40 such tennis balls,

£ £
§ A £
€ ns. g T
g 8
5 5
< 2. Tom has $4200 in his savings account. He eamns 2.5% interest eachyear. 8
g How much will Tom have in his account at the end of 1 year? g
8 °
g 2
L3 o
W fi.
Ans:$
Please do not write in the margin.
- Ga on to the next page
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figure below is 50 cm?, Find the area of the

» 8 rectangular piece of paper is folded along DE as

Ans:
Piease do not write In the m:q’ln.

In the figure below
shown. Find £p.

3. The shaded area of the
unshaded part.

4.

‘uifirews aup ug o3um Jou op eseeld
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Frad and Gary had $052 attogether. Gary and Henry had $730 attogether.
Fred and Henry had $638 altogether. How much monsy did Henry have?
Ans: §

Please do not writs in the margin.
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After that, he

late cupcakes left.

of the strawberry cupcakes in the moming.

had 285 more strawberry cupcakes than choco

1
How many cupcakes did Ahmad bake in total?

2:7.Heso!d§

5
Ahmad baked some chocolate and strawberry cupcakes in the ratio of

7.

-uyfiaeus I3 U] S3LM Jou Op 8s8sid

Gnrmmmanmm

Please do not write in the margin.

Ans:

-ujfiaeu Y3 Uj 0)iM Jou Op e%BS|d

3113131111111

mwmmmmmmmmmmmmmmmmMmmmwmmmwmmmmmmmMMnmmmmmmmmmmmmmmmmmmmmmwmmmmm_mmmmwmmmmmmmmmm”



BP-429

NN I BN Ui 1 111811 i1 1R

‘wiliiein o1 U} SJUM JOU Op 5ROy | o
e ﬁ .m
m :
33 |Hakls E
28 SFBB
£ $
it -
¥ i 3
_ ]
- B2 ||y ;
mm mmoi 5 m
e E i
§f By
mmr@mmn §
83 M,m =
2f 1) 3
uifuew oy} uf )M jou Op esRayy

:m:mmw:mmm:m:ﬁmmxwxm:m:nzzmmm:mmm:mxmammmﬂ:mmwam:mmmmmmﬁmgmmﬁz




BP-~430

mmemmmmmwmmmmmmmmmmmmmmmmmmmmmmm“mmnmmmW%WanmMm%mmmmmmmmmmm_mmmmmnmﬂﬂmﬁ%m“wmmmmmmmmmmmm"mmmmm

‘ujfieu 6U) Ul S3UA JOU Op 8SReYd o
| g
p: . 5 |1
] &
Bu 8
br BTy
85 B
22 g
® £
o m
o o
D,u. m..
2y H
it i
25
o mw.
= =
5.
TRE
o

“uiamut sy} Uy RUM JoU Op esEl|d

mmmmmmmmxmmmmmmmmmmwmmmmmmmmmmmmmmwmmmmmmmmmmﬁmzmmwm2mwmmmmmmmmmmmmmmm:mm_mmmmmmmﬁ




BP-~431

mmmwmmmmmmmmmmmmmmmmm“mmmmmwmmmmmmwmmmmmz:mmmmmm:z2mmmmm::mmxmmmmmmmmmmmwﬁmmmmmmm

"ujSiteLu 8Ly Lf eyuMm JOU O eseeld m le
_ |
K ; |
8 E:
| N\ 3
¢ | - M m
g P 8 2 | _
o w g -
s 11 2 -
3] -y :
: 5 s §
g - 3 2
® mm ........I....!....l.... 8 m
.m & ™ o b .m
22 118 & )
£ dinE: 1
2 g 3% g
3% 28¢88gge88° 3E
|2 O 58 .mm
5 £ mmm Se
2 8 2% B
g
"ugfieits Ol U} 3LM JOU Op 6586]d

T L




BP~432

mmmmwmmmmmmmmmmmmmmmmmmmmmmmmmmmmmwmmmmmmmmmmmmmmmmmmMmmmmmMmmhmmHMMMHMMMHmmmmmmmmmmmmmmmmmmHmm

yjfiew ey Ul AJHM JOU O 8SRe|d

= = |£

m.m - .m

p = Y =

g 2 O 2

e B £ 2

z B £ g

Mm S 8

v B

g% m : | g
i =l 0o 3 ; W

Es |E38 s &

ma | 8 m .H

§F | § :E 2

£ 3 £

o §3 g $

£ |l L = ,

S EE !

513 : i

EEE s

5 & 43

~ee 39

,r.m...\

"u|BrRwW Sif Ul SIUM JOU OP 5RG|d
:xmmmmmxmxm:MEEEmmmx:m:mz:E:EEE:E:mEWEEEM_EME




BP-~433

S HEE IR R R IHB T H I R AP

ujfrew oy} uj a3LUMm JOU OpP 0SLO[d 1o
Tm n w = H m
g i = 53 iy 3
gg =2 2
% 5% %, £ £
‘IR ¥ §
m : s & s f
i1 3 | £ 3
5 &
. f 33 =5 3
£ wm, m_w L
g L _
& mm 8 m
g e mmm |
.m =8 -y &
e £ g-2 =
LI i53
g <35 $ES
g E oy
"ujBuew oy} Ut o33um Jou op asEe)d

M Innononnnnmnononomnmononomnmmm




11

42. Al sams a fixed monthly salary. In June, he spent % of his salary on a table

and % of his reraining salary on a television.

{a} What fraction of Ali's salary was spend

on the television’?

§§§§§§§§§iiiiii3iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii!!§§§§§§i§§§§iiiiiiiii?iiiiiii%i%&iiiiiiii

Ans: (a) (11
(b) After buying the table and television, Ali had $360 left. Then, he spent
- $336tobuyatutaluf2{}platesandbowls.EachbovdcostS?.?'while g
each piate cost $10. What fraction of All's salary was spent on the &
plates? E
& 2 |
£ &
£ E
2 =
3 ;
g g
g g
&
8 3
[ o
Ans: (b) 4
Please do not write In the margin.
Go on to the nexi page
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r every chair sold, he would
eam an additionat $10. Given

o)

Ans:

+ he would
salling the chairs, how many chairs did he

12

Mr Tan sold chairs at a fumiture saje event. F
Please do not wrlte in the margin.

eam $3. For avery 25 chairs sokd

that Mr Tan eamed $364 from

seil?

13,
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% of the ribbons are yellow and
atio of the number of pink ribbons to the
: 5. There are 1748 more yallow ribbons than

pink ribbons, How many ribbons are there altogether?

14

A box containg some coloured ribbons. 44
the rest are pink and blue. The ratio
number of blue ribbons is 3
Please do not write in the margin.

15.
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of the remaining
Go on o the next page

money on another 3 durians and some mangees. How many mangoes did

she buy altogether?

1
2

Ans:

15

Pleasa do not write in the margin.

16, Aduﬁanoosissmsasmudmsamango.ﬁamispent g of her money
on 17 durians and 14 mangoes. Then, she spent

| ‘ujbes et uj o3uM JOU Op BSRE)q
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Ptease do not write in the margin.

16

17, Class 5K and Class 51 made some large and small keychains to raise funds

for charity. Each large keychain cost 4 times as much as each small
keychain. Each large keychain cost $14.80.

(8) Class 5K soid an squal number of small and large keychains, They
collected $629 from the sale of all the keychains, How many large
keychains did Class 5K sall?

Angs: (a) {2)

(b} Class 5L collected $529.10 from sslling the small end large keychains.
The class sold 18 more smail keychains than large keychar
How many small keychains did Ciass 5L sell?

Ans: (b) - _3
The End

Setters: Madam Ong L Ling and Ms Tan Zi Xuan

Please do not write in the margin.

Please do hot write in the margin.
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SCHOOL : HENRY PARK PRIMARY SCHOOL
LEVEL : PRIMARY 5

SUBJECT : MATHEMATICS

TERM : 2023 SA2

APER 1 LET

Q16 (48
5

Q17 7

Q18 (24

Q19 |18

Q20 ;80 min
1-1_£=i

7 3 2

Q21 |4u=24
1lu=6
2lu=21x6 =126
45 —

, Q22. a—oax880—396

Q23 10.5x12x16=96 cm2

Q24 | (5x42)~(4x32)=82

Q25 |110°-12° = 98°

<ADE = (180°-40°) + 2 = 70° |
Q26 |.CAD=70°+2=35
<CAE = 40° +35° = 75°

90-20=70
Q27 |80-78=2

70+2=35 | | |




Q28

Common multiples of 4 and 6 = 12, 24, 36, 48, 60, 72, 84

No. of cookies Kelly had left=3x12 = 36

Use guess and check method, taking common multiples as Kelly and
Louis’ cookies at first

Guess 1: Cookies both had first = 84

Days taken for Kelly to be left with 36 cookies = (84 - 36) +4 =12 days
Days taken for Louis to be left with 12 cookies = (84 - 12) +6 = 12 days
Ans: 84

Q29

LEBF = 180° - 66° - 78° = 36°
.BDC = 36°
.CBD = 180° - 36° - 120° = 24°

Q30

1 row = 12 triangles

60 + 12=5rows

5 x 4 = 20 cm — length of 1 side of square
20-18=2cm

20 x 2 = 40 cm?

PAPER 2

Q1

58.3gx40=233249
2332 g +356g=26889g

Q2

$4200 x 1.025 = $4305

Q3

Area of big triangle = 0.5 x 18 x 30 = 270 cm?
Area of unshaded part = 270 - 50 = 220 cm?

Q4

_ADL = 180° - (80° + 70°) = 20°
.p = 90° - 20° - 20° = 50°

Qb5

G+H+F+H=$730+ $638 = $1368
2H = $1368 - $952 = $416
1H = $416 + 2 = $208

Q6

8B-145=T

38+210=T

8B - 145 =3B + 210

5B = 355

1B=T71

No. of beads = (3 x 71) + 210 = 423

Q7

0.5x7=35u
3.5u-2u = 285
1.5u =285
fu=180
Ou=9x180=1710

8

16 km 300 m = 16300 m’
(16300 - 1000) + 400 =38R 100
$3.50 + $4.20 + $0.27 x (38 + 1)=$18.23

Pg?2
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Q9

<EDA = 360° - 156° - (180° - 75°) = 99°
<ADG = 180° - 50° ~ 99° = 31°

Q10a

Day 4

Q10b

Total sales from Day 4 to 6 = 350 + 100 + 250 = 700
Amt. collected from adult ticket sales = 1—% X 700 x $45 = $9450

Amt. collected from child ticket sales = —i% x 700 x $20 = $9800
Total money collected = $9450 + $9800 = $19250

G1a

$4560 + 6 = $760

($760 x 5) - $760 = $3040
5p = $3040

1p = $608

$760 - $608 = $152

Q11b

1 $3040 + 2 = $1520

Q12a

2 5_5

—-x—-:—

3 6 9

Q12b

No. of bowls bought = 8
No. of plates bought = 12

12 x$10= 8120
120 _ 1

(360x9) 27

Q13

| Total earned from selling 25 chairs = 25 x $3 + $10 = $85

$364 + $85 =4 R $24

1$24+%3=8

8+ (25x4)=108

Qida

Vol. of water at first = % x48 x 25 x 16 = 6400 m|
Vol. of water left = 6400 - 500 = 5800 m| = 5.9 ¢

Q14b

5900 + 200 =29 R 100
29+1=30

Q15

P : B : Total

3 :5 : 8
=21 :35 : 56
444 -21u = 1748
23u = 1748
Tu=76
100u = 7600

Pg 3
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1 mango = 1u

1 durian = 3u
Total units for 17 durians and 14 mangoes = 51u + 14u = 65u
Q16 {65u=5p
1p=13u
13u - (3 x 3u) = 4u — 4 mangoes bought with half of remaining money
Total mangoes bought=4 + 14 = 18
Cost of smali keychain = $14.80 + 4 = $3.70
Q17a | Group 1 smali and 1 large keychain = $14.80 + $3.70 = $18.50
$620 + $18.50 = 34
18 x $3.70 = $66.60
Q17b $529.10 - $66.60 = $462.50

$462.50 + $18.50 = 25
25+18=43

Pg4
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